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Q.1 @i ereer=n g 3 eftesar.

Meciia)
Ans X 1. gg=ar fRa Riqumr
75 2. OhTES STESUTRT
o 3. T T HRIET UTguIRT
X 4. Qo STag SUTRT

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680304480
6306801184474
6306801184476
6306801184473
6306801184475
Answered

3

2

Q.2 ‘dufher'; am reaTaT faRmeaTeff 2rez eftes.
Ans X 1.fus

X 2. @rortt
X 3. "
o 4. Tfech

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680304469
6306801184431
6306801184429
6306801184430
6306801184432
Answered

4

2

Q.3 @refiet rsaT=T 31 s,
g
Ans X 1. &ifr
W 2. 00
5 3. 3uaA
X 4 afar

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680304463
6306801184406
6306801184405
6306801184407
6306801184408
Answered

2

2




Q.4 @refte wgoftan alvg orf sitesar.
QAT 39 ARTHT ASTOT
Ans X 1. wlvTE MEET SifoRe aTse Srer.
W 2. HTET 34 g HIST T gil.
< 3. STt AT B ATt AT HIIET gl
X 4. T FTeRd 39F UT gid.

Question Type : MCQ
Question ID : 630680304474
Option 1 ID : 6306801184450
Option 2 ID : 6306801184452
Option 31D : 6306801184449
Option 4 ID : 6306801184451
Status : Answered
Chosen Option : 2

Marks : 2
Q.5 g8y F]ul; T A=TATET Tt SUURT AT @refierdehl gl faur siiear.
Ans X 1. 8580 g SUUE 3R,
X 2. g8 e gTd HellgH gIdTd.
Wi 3. 0N AT AT FEIST helell Hell SIS ATal.
X 4. ST S1ER YR B
Question Type : MCQ
Question ID : 630680304476
Option 11D : 6306801184460
Option 2 ID : 6306801184457
Option 31D : 6306801184459
Option 41D : 6306801184458
Status : Answered
Chosen Option: 3
Marks : 2
Q.6 wWrefier 2reETaT 3 3.
ura
Ans X 134
X 28
K 3w
W 4. R0
Question Type : MCQ
Question ID : 630680304462
Option 11D : 6306801184402
Option 21D : 6306801184403
Option 31D : 6306801184404
Option 4 ID : 6306801184401
Status : Answered
Chosen Option : 4
Marks : 2




Q.7 ‘HIUH Siegl AN ghal’ @ hIvm ATeHRU MTg?
Ans X 1. HgATEdt aeaid

X 2. saadt d
X 3. gt mrEd
o 4. T e
Question Type : MCQ
Question ID : 630680304483
Option 11D : 6306801184488
Option 2 ID : 6306801184486
Option 3 1D : 6306801184485
Option 4 ID : 6306801184487
Status : Answered
Chosen Option : 4
Marks : 2
Q.8 'Sracpur’; AT 2AETET favsearef erer site.
Ans X 1.3y
X 2.9¢
/X 3. dRe
w 4.
Question Type : MCQ
Question ID : 630680304468
Option 11D : 6306801184425
Option 2 ID : 6306801184426
Option 31D : 6306801184428
Option 4 ID : 6306801184427
Status : Answered
Chosen Option : 4
Marks : 2
Q.9 Wrefier AsaT=T Ty oref i@,
EH'I?HT
Ans X 1.THER AhH
a2, 21T HTUTTHUT chetet
X 3. AR 37T
< 4. ufas e
Question Type : MCQ
Question ID : 630680304479
Option 11D : 6306801184472
Option 2 ID : 6306801184470
Option 31D : 6306801184471
Option 4 ID : 6306801184469
Status : Answered
Chosen Option : 2
Marks : 2




Q.10 ETefiet arerITaT UehR Siiear.
ATATHTA get oA H diga fohar e &,
Ans . TgFATR
< 2. Factare
X 3.yt arm

< 4. amameff ar

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680304461
6306801184399
6306801184397
6306801184400
6306801184398
Answered

1

2

Q.11 'T@shras weft argal ATaesorRT WY, a1 dhreadeadtdia
Tft' ar regrT TRt 2reg sitesET.

Ans X 1. 2mft
75 2. QU
3.
X 4. femig

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680304467
6306801184421
6306801184424
6306801184422
6306801184423
Answered

3

2

Q.12 @refier wguflen av ordf sitear.
‘STt et gt el arstardt eresy
Ans X 1. Grcdiens gREd Tohard! s,
< 2. SITSUTTET Y YehTehS W8T ATel.
X 3. e TOTEAOT SR Sard.
W 4. AU SR G ane.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680304473
6306801184446
6306801184448
6306801184445
6306801184447
Answered

4

2




Q.13 'UTUSART &HRUY; AT AETATAT aTerITd IUTNT ST Wietlerden arg A sitear.

Ans

W 1. TYETEA GATT UTURSART She.

X 2. AdTd UTUTSART hraT.

X 3. UTUIRART Shed ™ uTerd uroft glesgiad gl
75 4. UTOTSART ShedT™ SIfBId aToft IR

Question Type : MCQ
Question ID : 630680304477
Option 11D : 6306801184461
Option 2 ID : 6306801184464
Option 31D : 6306801184463
Option 4 ID : 6306801184462
Status : Answered
Chosen Option : 1
Marks : 2
Q.14 Gl A== G A5ET.
ECHE
Ans X 1. Y FAY
< 2. sremiioma T
X 3. Sgder e
W 4. e gare
Question Type : MCQ
Question ID : 630680304472
Option 1 ID : 6306801184442
Option 2 ID : 6306801184444
Option 31D : 6306801184443
Option 41D : 6306801184441
Status : Answered
Chosen Option : 4
Marks : 2
Q.15 @refie araama AR T Euiar et g A= sitear.
ITSTET 375t heTaudTd 31T,
Ans X 1. ST 3l TR
W 2. ST 3151 WRRUTTT 37T T8l
ZX 3. ST 37t gt
X A, TS St trse
Question Type : MCQ
Question ID : 630680304459
Option 11D : 6306801184391
Option 21D : 6306801184390
Option 31D : 6306801184392
Option 4 ID : 6306801184389
Status : Answered
Chosen Option : 2
Marks : 2




Q.16 Tl AT JHY AHi5ET.

HerRd
Ans . TEY THE
X 2. fe Teg
< 3. srefiome T
X 4. Sgde au
Question Type : MCQ
Question ID : 630680304471
Option 11D : 6306801184438
Option 2 ID : 6306801184440
Option 3 ID : 6306801184437
Option 4 ID : 6306801184439
Status : Answered
Chosen Option : 1
Marks : 2
Q.17 @Erefiet arerTeiie waiT sitear.
A quE @reel.
Ans X 1. GHETUA HHOf g
< 2. qrioT et
o 3. T T
< 4. wET
Question Type : MCQ
Question ID : 630680304464
Option 11D : 6306801184410
Option 2 ID : 6306801184409
Option 31D : 6306801184412
Option 4 ID : 6306801184411
Status : Answered
Chosen Option: 3
Marks : 2
Q.18 'threeRIT ST A Usa st At fARTem’; a1 ereadedidier AR ar sreran faseareff areg
ST,
Ans X 1. 3TERAT
g 2. 37T
25 3. Arerar
X A =R
Question Type : MCQ
Question ID : 630680304470
Option 11D : 6306801184436
Option 2 ID : 6306801184434
Option 3 ID : 6306801184433
Option 4 ID : 6306801184435
Status : Answered
Chosen Option : 2
Marks : 2




Q.19 ‘YTl SUTOTOY AT AETATET ATRITT SUANT ST WieileTdeh! I faen= siier.

Ans o 1. ERIT YTHUT T IS TS GOMUT,
25 2. ATSHTTRSAT Al AT SATOT T eTe SumuTe.
X 3. UTHTERT ST GAER 3.
2$ 4. Tfrarar g shHid ST STfor fore et goToTer,
Question Type : MCQ
Question ID : 630680304478
Option 11D : 6306801184467
Option 2 ID : 6306801184468
Option 31D : 6306801184465
Option 4 ID : 6306801184466
Status : Answered
Chosen Option : 1
Marks : 2
Q.20 '3MTaSdl HST MHIE AR AU A uroft’; a1 hreadadidie 'R’ ar eregrar g e
SiteEr.
Ans X 1.afef
X 2. gRar
o 3. 992
X 4
Question Type : MCQ
Question ID : 630680304466
Option 11D : 6306801184420
Option 21D : 6306801184418
Option 31D : 6306801184417
Option 4 ID : 6306801184419
Status : Answered
Chosen Option: 3
Marks : 2
Q.21 "Erefiet AT yaiT silear.
Ans X 1. GHTOS HHOM TR
< 2. ol g
X 3. gRioT et
o 4. T ol
Question Type : MCQ
Question ID : 630680304465
Option 11D : 6306801184416
Option 2 ID : 6306801184413
Option 31D : 6306801184414
Option 41D : 6306801184415
Status : Answered
Chosen Option : 4
Marks : 2




Q.22 ‘TR TRl AT @ shreadt spivft fAfge?
Ans X 1. faemg aréla

X 2. Ty UsR
< 3. fRuarstt grda
o 4.3 . TR
Question Type : MCQ
Question ID : 630680304481
Option 11D : 6306801184478
Option 2 ID : 6306801184479
Option 31D : 6306801184477
Option 4 ID : 6306801184480
Status : Answered
Chosen Option : 4
Marks : 2
Q.23 T@refiet uATfT arerm et arerma Tuiar e g fau sitear.
U USd 3T hI?
Ans X 1. 3T WA 3T 3 TR UTHT USel.
X 2. TRAERT IATAT UTSHY UG 2.
< 3. fohdlt B Ured Usd oMTe.
W 4. UTSY USd 37Te.
Question Type : MCQ
Question ID : 630680304460
Option 11D : 6306801184393
Option 2 ID : 6306801184394
Option 31D : 6306801184395
Option 41D : 6306801184396
Status : Answered
Chosen Option : 4
Marks : 2
Q.24 Gl aIRERTE g orf siiear.
gdae giot.
Ans o 1. 3rEHY o3,
25 2. A1 re,
/X 3. 9 o
X 4. arepg 3o,
Question Type : MCQ
Question ID : 630680304475
Option 11D : 6306801184453
Option 2 ID : 6306801184455
Option 31D : 6306801184456
Option 4 ID : 6306801184454
Status : Answered

Chosen Option :
Marks :

1
2




Q.25 ‘3{THET dT9 3T TR T ATHARAT SGeh hivT?
Ans X 1. Tz qoiaes

o 2. T Shya
X 3. TR meifie
X 4.3 9 @@
Question Type : MCQ
Question ID : 630680304482
Option 11D : 6306801184484
Option 2 ID : 6306801184482
Option 31D : 6306801184483
Option 4 1D : 6306801184481
Status : Answered
Chosen Option : 2
Marks : 2
Section : English Language
Q.1 The following sentence has been divided into four segments. Select the segment that
contains a grammatical error.
There are / no prices / written in / this menu.
Ans X 1.no prices
/X 2. There are
" 3. written in
X 4. this menu
Question Type : MCQ
Question ID : 630680252244
Option 11D : 630680978956
Option 2 ID : 630680978955
Option 31D : 630680978957
Option 4 1D : 630680978958
Status : Answered
Chosen Option: 3
Marks : 2
Q.2 Select the most appropriate question tag to fill in the blank.
My friends have not helped the poor who are in needed of money,
Ans X 1.isit
/5 2. has they
#5 3. have them
" 4. have they
Question Type : MCQ
Question ID : 630680280589
Option 1 ID : 6306801090594
Option 2 1D : 6306801090591
Option 31D : 6306801090593
Option 4 1D : 6306801090592
Status : Answered
Chosen Option : 4
Marks : 2




Q.3 The following sentence has been split into four segments. Identify the segment that

Ans

contains a grammatical error.

After analysing every piece of evidence, / the inspector realised that / his hypothesis has

been flawed / from the very beginning.
25 1. the inspector realised that

/< 2. from the very beginning

/< 3. After analysing every piece of evidence

4 4. his hypothesis has been flawed

Question Type :
Question ID :

: 630680978776
: 630680978778
: 630680978775
Option 41D :
Status :

Chosen Option :
Marks :

Option 1 ID
Option 2 ID
Option 3 1D

McQ
630680252199

630680978777
Answered

1

0

Q.4 Parts of the given sentence have been underlined. One of them contains an error. The

Ans

underlined parts are given as options with some changes. Select the option that correctly

rectifies the error.

In a few years, she studying abroad to pursue her dream career.

75 1. for pursue

25 2.in pursue

#< 3. has studying
o 4. will be studying

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680252166
630680978644
630680978645
630680978646
630680978643
Answered

1

0




Q.5

Ans

Select the most appropriate adjective to fill in the blank.

Her husband is very jolly by nature. His jokes are , and we love his company for that

reason.
5 1. graceful

< 2. clumsy
% 3. hilarious
X 4. disgusting

Question Type :
: 630680252951
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :
Marks :

Question ID

McCQ

630680981783
630680981786
630680981785
630680981784
Answered

1

0

Q.6 Select the most appropriate article to fill in the blank. If no article is required, select ‘No

article’.

We appreciate our peon, as he is honest man.

Ans 4 1. an
X 2.a
X 3.the
< 4. No article
Question Type : MCQ
Question ID : 630680252941
Option 1 ID : 630680981743
Option 2 ID : 630680981744
Option 3 1D : 630680981745
Option 4 ID : 630680981746
Status : Answered
Chosen Option : 1
Marks : 2
Q.7 Select the most appropriate meaning of the given proverb.
Better lose the saddle than the horse
Ans X 1.ltis better to deal with something difficult but familiar.
5 2.1tis better to avoid disputes with fools.
o 3. Itis better to accept a small loss than to lose everything.
/< 4. 1tis better to do something late than not do it at all.
Question Type : MCQ
Question ID : 630680277633
Option 11D : 6306801078914
Option 2 1D : 6306801078916
Option 31D : 6306801078915
Option 4 1D : 6306801078913
Status : Answered
Chosen Option: 3
Marks : 2




Q.8 Select the most appropriate option to fill in the blank.

They have finished their homework, ?
Ans X 1. will they

o 2. haven't they
25 3. shouldn't they

X 4. has they
Question Type : MCQ
Question ID : 630680252158
Option 11D : 630680978612
Option 2 ID : 630680978614
Option 31D : 630680978613
Option 4 1D : 630680978611
Status : Answered
Chosen Option : 2
Marks : 2
Q.9 A part of the given sentence has been underlined. It contains an error. The underlined part
is given as options with some changes. Select the option that correctly rectifies the error.
Mamatha and Kavitha does not like watching TV serials, unlike other women.
Ans X 1.do not likes
o 2. do not like
25 3. does not likes
X 4.is not liking
Question Type : MCQ
Question ID : 630680252224
Option 11D : 630680978876
Option 2 ID : 630680978877
Option 31D : 630680978875
Option 4 ID : 630680978878
Status : Answered
Chosen Option : 2
Marks : 2
Q.10 Select the most appropriate meaning of the given idiom.
Keep your fingers crossed
Ans X 1. Create unnecessary tension for
/X 2. Anticipate unfavourable situations with courage
#5 3. Wait for changes to happen
% 4. Hope for good luck or a positive outcome
Question Type : MCQ
Question ID : 630680274754
Option 11D : 6306801067529
Option 2 ID : 6306801067528
Option 31D : 6306801067527
Option 4 1D : 6306801067530
Status : Answered
Chosen Option : 2
Marks : 0




Q.11 Select the most appropriate synonym of the underlined word.

It was because of such a milieu around me that | had a firm belief which | still hold that all

arts are equally, if not more, important in our lives than Science or Technology.

Ans 4 1. Surroundings
< 2. Place
X 3. Status
< 4. Habitat
Question Type : MCQ
Question ID : 630680280617
Option 11D : 6306801090704
Option 2 ID : 6306801090703
Option 31D : 6306801090705
Option 4 ID : 6306801090706
Status : Answered
Chosen Option : 1
Marks : 2
Q.12 Select the option that expresses the given sentence in active voice.
German was being learnt by Shobha.
Ans " 1. Shobha was learning German.
#< 2. Shobha have learning German.
75 3. Shobha was learn German.
/< 4. Shobha has learning German.
Question Type : MCQ
Question ID : 630680274346
Option 11D : 6306801065898
Option 2 ID : 6306801065895
Option 31D : 6306801065896
Option 4 ID : 6306801065897
Status : Answered
Chosen Option : 1
Marks : 2
Q.13 Select the option that expresses the given sentence in passive voice.
Sam played tennis.
Ans X 1. Tennis was play by Sam.
X 2. Tennis was playing by Sam.
75 3. Tennis is playing by Sam.
## 4. Tennis was played by Sam.
Question Type : MCQ
Question ID : 630680274341
Option 11D : 6306801065875
Option 2 ID : 6306801065876
Option 31D : 6306801065878
Option 4 1D : 6306801065877
Status : Answered
Chosen Option : 1
Marks : 0




Q.14 Select the most appropriate punctuation mark to fill in the blank.

Alwin's car didn__t start yesterday.
Ans X 1.“(double quotation mark)

X 2.2 (question mark)
w# 3." (single quotation mark)

X 4.1 (exclamation mark)

Question Type : MCQ
Question ID : 630680277617
Option 11D : 6306801078849
Option 2 1D : 6306801078851
Option 31D : 6306801078850
Option 4 1D : 6306801078852
Status : Answered
Chosen Option: 3
Marks : 2
Q.15 Select the most appropriate preposition to fill in the blank.
Mary moved to Canada 2022.
Ans 4 1.0n
X 2. off
X 3.at
X 4.on
Question Type : MCQ
Question ID : 630680274348
Option 11D : 6306801065905
Option 2 ID : 6306801065906
Option 31D : 6306801065903
Option 4 ID : 6306801065904
Status : Answered
Chosen Option : 1
Marks : 2
Q.16 Parts of the following sentence have been given as options. Select the option that contains
an error.
The cat will be sleeped comfortably on the windowsill, enjoying the sunshine.
Ans X 1.enjoying the sunshine
¥ 2. will be sleeped
25 3. on the windowsill
/X 4.The cat
Question Type : MCQ
Question ID : 630680274726
Option 11D : 6306801067416
Option 2 1D : 6306801067417
Option 31D : 6306801067415
Option 4 1D : 6306801067418
Status : Answered
Chosen Option: 3
Marks : 0




Q.17 Select the INCORRECTLY spelt word in the following sentence.

India is developing its ties with European countries and is trying to strick the trade balance

with them.
Ans X 1.developing

75 2. European

o 3. strick
< 4. balance
Question Type : MCQ
Question ID : 630680252252
Option 11D : 630680978987
Option 2 1D : 630680978988
Option 31D : 630680978989
Option 4 1D : 630680978990
Status : Answered
Chosen Option: 3
Marks : 2
Q.18 Select the most appropriate meaning of the given proverb.
A loaded wagon makes no noise
Ans X 1. The strength of a group depends on each individual member
X 2.1f atask is well planned, it will be successful
o 3. Really wealthy don't talk about money
< 4. Afoolish person usually spend money carelessly
Question Type : MCQ
Question ID : 630680252949
Option 11D : 630680981776
Option 2 1D : 630680981778
Option 31D : 630680981777
Option 4 ID : 630680981775
Status : Answered
Chosen Option: 3
Marks : 2
Q.19 Select the most appropriate ANTONYM of the underlined word.
As he went on reminiscing about the rice, we gently guided him back to the reason for our
visit, the Kasbai seeds.
Ans X 1.Disregarding
5 2. Losing
< 3. Ignoring
o 4. Forgetting
Question Type : MCQ
Question ID : 630680280607
Option 11D : 6306801090666
Option 2 1D : 6306801090665
Option 31D : 6306801090664
Option 4 1D : 6306801090663
Status : Answered
Chosen Option : 4
Marks : 2




Q.20 Select the most appropriate adverb to fill in the blank.

There’s much furniture in this room. There's no space.
Ans X 1.so
5 2. 100
X 3.no
X 4.t0
Question Type : MCQ
Question ID : 630680252290
Option 11D : 630680979140
Option 2 ID : 630680979141
Option 31D : 630680979142
Option 4 1D : 630680979139
Status : Answered
Chosen Option : 2
Marks : 2
Q.21 Select the INCORRECTLY spelt word in the following sentence.
The students had to complete a challanging assignment for their science class.
Ans X 1.students
% 2. challanging
/X 3.science
25 4. complete
Question Type : MCQ
Question ID : 630680252187
Option 11D : 630680978729
Option 2 ID : 630680978728
Option 3 ID : 630680978730
Option 4 ID : 630680978727
Status : Answered
Chosen Option : 2
Marks : 2
Q.22 Select the most appropriate synonym of the given word.
Celestial
Ans X 1. Graceful
< 2. Huge
o 3. Heavenly
/< 4. Gigantic
Question Type : MCQ
Question ID : 630680252270
Option 11D : 630680979062
Option 2 1D : 630680979061
Option 3 ID : 630680979060
Option 4 ID : 630680979059
Status : Answered
Chosen Option : 4
Marks : 0




Q.23 Select the most appropriate option to fill in the blank.

The elephant moved its trunk as it spotted its mahout approaching house.
Ans X 1.an
X 2. either
o 3. the
X 4. both
Question Type : MCQ
Question ID : 630680274746
Option 11D : 6306801067497
Option 2 ID : 6306801067498
Option 31D : 6306801067496
Option 4 ID : 6306801067495
Status : Answered
Chosen Option : 4
Marks : 0
Q.24 Select the most appropriate option to fill in the blank.
The Shatabdi did not leaveon ___.
Ans X 1.Express; eid
/5 2. Express;; eid
%" 3. Express; Eid
< 4. Express!; E.I.D.
Question Type : MCQ
Question ID : 630680274722
Option 11D : 6306801067400
Option 2 1D : 6306801067401
Option 31D : 6306801067399
Option 4 1D : 6306801067402
Status : Answered
Chosen Option : 3
Marks : 2
Q.25 The given sentence has an error. Select the option with the correct sentence.
Sapna has not went to her French classes.
Ans 4 1. Sapna has not been going to her French classes.
#< 2. Sapna has not going to her French classes.
/< 3. Sapna have not gone to her French classes.
75 4. Sapna have not been going to her French classes.
Question Type : MCQ
Question ID : 630680277621
Option 11D : 6306801078868
Option 2 1D : 6306801078865
Option 31D : 6306801078866
Option 4 1D : 6306801078867
Status : Answered
Chosen Option : 2
Marks : 0




Section : General Knowledge

Q.1 @refierdht wivrdt a=ht & ot srfermar gureT Scet= wH FRoarETs!, Fefags arsi
Hereaw fAfd snfor givflt arend st T ‘smTfae Swif RepR’ a1 Jat=a gRemr

AR 3TeA1?
Ans o 1. HITAeh TSATR
X 2. GeruaH delar
X 3. Famganfeg e

X 4. O SR

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680275496
6306801070498
6306801070497
6306801070495
6306801070496
Answered

3

0

Q.2 WRT IsaueT @ 'anif= thefore™ (HeRsgarer Hier)' g 3 @reflerd<dl wivft rgeat

aTe?
Ans X 1. 3muegR SifS

< 2. Tt siffee
o 3. HIRE S
X 4. fpfo Aggs

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680276503
6306801074510
6306801074507
6306801074508
6306801074509
Answered

3

2

Q.3 R ANRba A#fAaw weft @SR srer glar?

Ans 4" 1.17955
X 2.1958
7 3.1960
< 4.1956

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270492
6306801051154
6306801051156
6306801051157
6306801051155
Answered

1

2




Q.4 =t 2023 wed wiar iAo f@e, 2022 a1 qufdie gats

FereiiR T Hif R REpR™ TR vvard anet gid, o @refieddl wiorar @onft deafaa

arg?
Ans X 1.fhde
o 2. SR
X 3. defiieT
X 4 g
Question Type : MCQ
Question ID : 630680270513
Option 11D : 6306801051238
Option 2 ID : 6306801051239
Option 31D : 6306801051240
Option 4 ID : 6306801051241
Status : Answered
Chosen Option : 4
Marks : 0
Q.5 WRATAT 2011301 SIFAUHYHR, HRATAA ShivTreT Isard &g usiean srgami=h @w=ar
waffdew amg?
Ans X 1. fgikm
W 2. I
X 3. IRUTE TeeT
X A BuTerm
Question Type : MCQ
Question ID : 630680270573
Option 11D : 6306801051479
Option 2 ID : 6306801051478
Option 31D : 6306801051481
Option 41D : 6306801051480
Status : Answered
Chosen Option : 1
Marks : 0

Q.6 Sifecier 2022 ALd, g I G, TORTT A FETH T&eATaT HHTET FHHt hRuarErs! (mitigate
climate change) Uamre SfoT Sk g AR, STl R ai-i @refierddt wiora A

Ans

T Fa?
W 1. A2 @S (LIFE)
X 2. e gemde
X 3. e ofig (LeAP)
25 4. T ggieRor

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275498
6306801070505
6306801070503
6306801070504
6306801070506
Answered

2

0




Q.7 @retierd<hl vt faroft 1 @ 3 Al 2023 Z3= 620 TR ARt erdfrer (ACWG) ufgsht

Ans

&5 IR USA?

X 1. FTRE, dAfeh

o 2. T, g
75 3. IR, I5TIH

X 4. fRryem, fewmerer vt

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID
Status

McQ
630680275534
6306801070648
6306801070647
6306801070649

: 6306801070650

. Answered

Chosen Option :
Marks :

4
0

Q.8 3ufara ao=hiear Iusiifaen anfor Rafgrardiear ggraiafa, frdt sgrmrRuferesT e amrom=ar

Ans

FAIRIATS YSehes TIHHTAAh hedTUThRT SUTITET S{a¥id sheier?
X 1.76
X 2.74

W 3.75
X 4.73

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680275545
6306801070694
6306801070692
6306801070693
6306801070691
Answered

3

2

Q.9 2011 AT FTNUHTHR, HRdATdI farft diereed=H earchardt fardt sma?

Ans

X 1.7.2%
X 2.9.2%
X 3.5.6%
W 4.8.6%

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680270190
6306801050011
6306801050013
6306801050014
6306801050012
Answered

4

2




Q.10 Wrefierdehl shivreaT TATSgUReH SNDT #fgen fRamdisr @it deft?
< 1. I age

X 2. 3ETE IS
Wi 3. diSt herd el
X 4. TUTes ot TRaet

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :

Option 3 ID
Option 4 ID
Status

McCQ
630680275320
6306801069791
6306801069792

: 6306801069794
: 6306801069793
: Answered
Chosen Option :
Marks :

3
2

Q.11 AT ARRE A Sia=9<d dreaa SIToar=h SR ShivrdT 3mg?
W 1. a5d

X 288

X 3.7g

X 4 @

Ans

\

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680270217
6306801050121
6306801050119
6306801050122
6306801050120
Answered

4

0

Q.12 2023 ged, 9 sRfATEaa=ar g=1 2023 a1 fZusfia eRTeR @rerd Feuriar, 2023 Ireft
WRATT g1 hiel (Haj quota) & hIRIHT-gd T TRIGGST G- RATRE et AT
2 1.1,80,025

75 2.1,95,025
o 3.1,75,025

Ans

X 4.1,45025

Question Type :
Question ID :
Option 11D :
Option2 D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275557
6306801070739
6306801070740
6306801070741
6306801070742
Answered

2

0




Q.13 Wrefierdhl shivft ‘Tirfoey F&w R g Wge Ty’ A g @fga?

Ans o 1. ofteR ETea Sieft
25 2. eI AR
X 3. fwopereft dfea
75 4. forsopear srgarRt
Question Type : MCQ
Question ID : 630680287401
Option 11D : 6306801117513
Option 2 ID : 6306801117514
Option 31D : 6306801117511
Option 4 ID : 6306801117512
Status : Answered
Chosen Option : 2
Marks : 0
Q.14 SR ANRGT HHAU[h e ARG Aoas 3, o= @rieflerddh! v Aar R
ARTRehe IEATAA het ST Acha?
Ans X 1. fAfdgRr dwme
X 2. 9o
w 3. I
X 4. m
Question Type : MCQ
Question ID : 630680270499
Option 11D : 6306801051185
Option 2 ID : 6306801051184
Option 3 ID : 6306801051183
Option 4 ID : 6306801051182
Status : Answered
Chosen Option: 3
Marks : 2
Q.15 SR UigaT Ti-it wed urefAT TSI RATGET el
Ans o 1. di
K 2.9
X 3.ga
X 4. Ferepn
Question Type : MCQ
Question ID : 630680275929
Option 11D : 6306801072227
Option 2 ID : 6306801072228
Option 3 ID : 6306801072229
Option 4 ID : 6306801072230
Status : Answered
Chosen Option : 1
Marks : 2




Q.16 %9k (FB) 3 TxuTdeh, 32 affa Arch gervant § @reflerd<ht srtoren aréla gatea Tt smga?
Ans X 1.2023 mefier sreter 25 gafa sfida @=ht (25 Richest Persons in the World in 2023)

2 2. TR Tata ofiva SeitsTes (America’s Richest Entrepreneurs)
X 3. wisd 10 afd sfidd Ieivudt (Forbes 10 Wealthiest Businessmen)
o 4. 3RS 40 auiareiir @afa <fiwid Jefster (America’s Richest Entrepreneurs Under 40

years)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680275757
6306801071542
6306801071539
6306801071540
6306801071541
Answered

4

2

Q.17 GeTURERET THTARN Sr¥etean wrofigsi=n fafe me @i smg?
Ans X 1.39TR

X 2. Ao
o 3. dfeure
X 4. rpfa €

Question Type :
Question ID :
Option 11D :
Option2 D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270203
6306801050064
6306801050063
6306801050066
6306801050065
Answered

4

0

Q.18 wrfeei= aifder sifafazs, 2005 =am Swivren swewTa fafe yerora Aifgdt qrevar TR
AUYTAT HRUTEEA' Ieeid 3MTR?

Ans 1. HH 9
X 2. @ad 11
X 3.%aH 10
X 4. DT 12

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680275341
6306801069875
6306801069877
6306801069876
6306801069878
Answered

4

0




Q.19 Iroura [reg Arfgedt Sgh T el heeT SHTUET ASTATHT 335 AhdTd.

Ans X 1. 9afdd Teae gt
X 2. YRAr gage

o 3. Teiferd Iroar TSt

X 4. TRAr Igudt
Question Type : MCQ
Question ID : 630680275370
Option 11D : 6306801069994
Option 2 ID : 6306801069992
Option 3 ID : 6306801069993
Option 4 ID : 6306801069991
Status : Answered
Chosen Option: 3
Marks : 2
Q.20 ‘gar weRTar (3 ATEeE T g) gi-it fafgen g
Ans X 1. TIUTE OIS SRR
X 2. TUTes 0T Mgt
X 3. @t faderg
W 4. STl qaTE gt
Question Type : MCQ
Question ID : 630680275294
Option 11D : 6306801069688
Option 2 ID : 6306801069690
Option 3 ID : 6306801069687
Option 4 ID : 6306801069689
Status : Answered
Chosen Option : 4
Marks : 2
Q.21 @refterdehl shivrd/wiorh fRur=/fRua™ gt sma/snga?
A) 1820 & 1830 =0T 2AhT=AT ITRIUTA STl fraRdaimed I e Jegde @A sitaaet
SIToTRY gerr ferereroft At gid.
B) T TTe Pegded Aar awur Sfreit-ifdaa 3t ffRsm e ghar.
Ans & 1. A 30T B St
X 2. Fazs A
X 3. %I B
X 4. A g gt fohar B €Y A6t
Question Type : MCQ
Question ID : 630680275287
Option 11D : 6306801069661
Option 2 ID : 6306801069659
Option 31D : 6306801069660
Option 4 ID : 6306801069662
Status : Answered
Chosen Option : 1
Marks : 2




Q.22 WRdThgA f2deR 2023 ydaq aruI=T ATiER (heritage routes) ufgeur gragie-arfea
IS G heuar Faie el St o, et =roft-oma (test-run) @refierdhY wivren

A1fifheR St sder?
75 1. SR RAgR famT
X 2. a1 ekt A fawm
o 3. FTa-Siig fermT
X 4. afem fqamr

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275525
6306801070614
6306801070611
6306801070612
6306801070613
Answered

1

0

Q.23 YR W= gadcs el TeHld, ‘WRIST g qduyA __ gi-il IR g,
X 1. TiUTes ot TRaet

W 2. TTeTTS ARISH

72X 3. mgrar mieht

X 4. @rf fewrs

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680275925
6306801072213
6306801072211
6306801072214
6306801072212
Answered

2

2

Q.24 WRATAT IR AN w2ri=an Affded ahrer dom= e gl e sitearn?
25 1. T, g Snfey Merat

X 2. g, T Sy HETet

3. e, 7 SOy srgrean

X A SIEIE, ATl Moy marerdt

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680270519
6306801051265
6306801051262
6306801051264
6306801051263
Answered

2

0




Q.25 FATST=AT HRFTT FHIVTET HRT URTTET UTehfaeh are FgUA YfAehT Sstradal?
Ans X 1.u™

W 2.7

X 3@

X 493

Question Type : MCQ
Question ID : 630680270233
Option 11D : 6306801050183
Option 2 1D : 6306801050185
Option 31D : 6306801050186
Option 4 ID : 6306801050184
Status : Answered
Chosen Option : 2
Marks : 2

Section : General Intelligence

Q.1 R fRrum/a snfoy e wergden aran. Rumimes RAsh @it & smrago s awaiden
T AT SHTewa, a9t Hf T Mg ot i U, Ratear FRspufdhY storan/a frsend
fRtear ferish aeheia smg/amed a s,
fRrem:

el 7T, BR S1Ted.
s

(I)a#?a%,ﬂman%a.
(I1) T oz, TET sTed.
Ans X 1. %k fAswy (1) adhama smg.

X 2. Tk frsepd (1) deheTa ST
W 3. Frsa (1) snifor (1) @ =gt acheTa amga.
X 4. Pt (1) R (1) Y wepgl aehiTer e

Question Type : MCQ
Question ID : 630680277081
Option 11D : 6306801076818
Option 2 ID : 6306801076817
Option 31D : 6306801076820
Option 4 ID : 6306801076819
Status : Answered
Chosen Option: 3
Marks : 2




Q.2 SR'A U '+, ‘B’ UMS! ‘%, ‘C’ TgUrS! ‘+' SMIf0Y ‘D’ WgUrSt ‘-’ 31T, R WiefieTdehl shamst 3« 35

33I_A?
Ans X 1.11A3B27C9D5

7 2.11C3A27D9B5
w#"3.11B3D27A9C5
/X 411A3D27B9C5

Question Type : MCQ
Question ID : 630680276961
Option 11D : 6306801076339
Option 2 1D : 6306801076340
Option 31D : 6306801076338
Option 4 ID : 6306801076337
Status : Answered
Chosen Option: 3
Marks : 2
Q3 WBFUaAT: 7 -{13-2(-4x4)} -15+3.
Ans o 1.-43
X 2.-36
< 3.-30
X 4.-38
Question Type : MCQ
Question ID : 630680287278
Option 11D : 6306801117019
Option 21D : 6306801117021
Option 3 ID : 6306801117022
Option 4 ID : 6306801117020
Status : Answered
Chosen Option : 1
Marks : 2
Q.4 el Reean sieR-uygre siisuiAed @i Hieedl THF Jeaurd 398 ufafafde som=r ser-
Tgr! s e
YJR : ANX
HDO : JHU
Ans X 1.KLM:GOl
< 2.KUF: FZA
w# 3. XEB: ZIH
X 4.PJV:THZ
Question Type : MCQ
Question ID : 630680276781
Option 11D : 6306801075620
Option 2 ID : 6306801075622
Option 3 ID : 6306801075619
Option 4 ID : 6306801075621
Status : Answered
Chosen Option : 3
Marks : 2




Q.5 o aifehaed ? =ar SInft s araer ga?
1258045207
Ans X 1.15
X 2.10
3.5
X 4.25
Question Type : MCQ
Question ID : 630680271441
Option 1 ID : 6306801054837
Option 2 ID : 6306801054838
Option 31D : 6306801054839
Option 41D : 6306801054836
Status : Answered
Chosen Option: 3
Marks : 2
Q.6 feaeh R/ enfor e wargdes aran. Rumiaed e arfgdt & gt 7ma awidan
T AT ST, a¥l Hf T 3T ot eI U, Ratear FRspufddY storan/a frsend
R fRrurish addra emd/smdda & s
faem:
gl ST65), HSUTA 3MTR.
el sy, fora amdd.
agads foran, 1oy smaa.
fArsepef
(1): 1Y =151, foram e,
(Il): TSt HUT, IS STad.
Ans X 1. Oh Rt (1) qehdTa e,
2 2. teh feaR (1) qheTTa oTe.
w3, Fsendf (1) fefar fremef (11) Ieht Gehg! deheiire ATgl.
25 4. s (1) smfoy (1) @ SEt aehaTa Smmed.
Question Type : MCQ
Question ID : 630680273953
Option 11D : 6306801064331
Option 2 ID : 6306801064332
Option 31D : 6306801064333
Option 4 ID : 6306801064334
Status : Answered
Chosen Option : 4
Marks : 0




Q.7 urEu X 31for ury Y @ 2rehl MRUMR UTEy 3MTgd R ursy Z &7 <rehl Reprft shrumRr urdy emg. X
STfoY Y Srger#t 144 arfor 180 fafReia ekl == 2rahara. fagt urdu garra 36t g% e, o areh 4
aTEid WRA. X Sifor Y aier 24 AFREiardt uara 31 G dhet, 71 dg chet S1I0T Z &1 & hel. @

ereht fohelt AsTaR Reprft gide?
Ans X 1.12f@af
X 2.18f@fe
o 3. 36 fafe
X 415 e
Question Type : MCQ
Question ID : 630680288048
Option 11D : 6306801120099
Option 2 ID : 6306801120101
Option 31D : 6306801120102
Option 41D : 6306801120100
Status : Answered
Chosen Option: 3
Marks : 2
Q.8 IR r=E-witsar e enga. @mdhl i fAfe uar T amgd onfor ek drest . <t aredt
ereg-sitEl et
Ans X 1.33AN (@) - FH
W 2. FiegT - Rims
X 3. de -y
X 4. IR - e
Question Type : MCQ
Question ID : 630680273662
Option 11D : 6306801063169
Option 2 ID : 6306801063168
Option 31D : 6306801063170
Option 41D : 6306801063167
Status : Answered
Chosen Option : 4
Marks : 0
Q.9 Uil gulATATRATER SMuRew Rdear afehd usifRgren (?) st wr set uifgsi?
LFR, FZL, ZTF, TNZ, ?
Ans X 1.MHU
o 2. NHT
X 3.NGU
X 4. MHT
Question Type : MCQ
Question ID : 630680272840
Option 11D : 6306801059922
Option 21D : 6306801059921
Option 31D : 6306801059920
Option 4 ID : 6306801059919
Status : Answered
Chosen Option : 2
Marks : 2




Q.10 31eR, T&T, AR st feciear miferdar Teef = snfor arEaTeier usma SwR .
(SR)EA#7CM34%2G9F8&$65PZY (Iu)

A< ar2ft foreft A2 enga, Sui= arasdta et ueh 31eR Ad enfor arasdla Ao U T 3a?

Ans

X 1.9R
X 2=

W 3.TF
X oaaa

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680273240
6306801061506
6306801061505
6306801061503
6306801061504
Answered

3

2

Q.11 fam 450 fhadier g asares @R het. 10% A1 fResauarard) fast & faedt et et

Tifgat?
Ans 4 1.3495
< 2.3360
/< 3.3380
X 4.3425
Question Type : MCQ
Question ID : 630680287319
Option 11D : 6306801117183
Option 21D : 6306801117186
Option 31D : 6306801117185
Option 41D : 6306801117184
Status : Answered
Chosen Option : 1
Marks : 2
Q.12 Reieh wrforent arfhengea gof goaramdt 2 =1 st s se aifet?
G12U, J19Q, M28M, ?, S52E
Ans X 1.P40l
W 2. P39I
< 3. P40H
2 4.P39H
Question Type : MCQ
Question ID : 630680280691
Option 11D : 6306801091002
Option 2 ID : 6306801091000
Option 31D : 6306801090999
Option 4 1D : 6306801091001
Status : Answered
Chosen Option : 2
Marks : 2




Q.13 QehT JATAT Qehl TEAH 12 3 Urogmy Fifdidaet g, g @ 21 7 ot 1oy @ IR gk

IERTUENT 63 STRA 31Tl TAT H&AT1 g gia, ot T fndt giedi?

Ans X 1.9
2.7
X 3.12
X 4.8

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680287293
6306801117080
6306801117079
6306801117082
6306801117081
Answered

2

2

Q.14 UG Tk M 20 Radia & 2rehdt @R a9 o Ag= 30 fRadia e rawdl. ait g fga
HHTAT GEaTd dhell 31TOY 6 Raw gof srferma= s et sty rqdiet 6 Rawia s Awn

feraria gof gider?

Ans X 1.7
X 25
X 3.10
w43

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680288040
6306801120069
6306801120068
6306801120070
6306801120067
Answered

4

2

Q.15 TRt FUTeaTd fAart TRt 510 Sfor g Rasft 240 sranma sream. FREaRugE ¥ gom=an

30 Regi=aT Yeh Afg=ard a=RIsT Srdetelt ST TR ST fad! amg?

Ans X 1.266
X 2.280

W 3.285

X 4.250

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680287312
6306801117156
6306801117157
6306801117158
6306801117155
Answered

3

2




Q.16 SR 2 %, aufars! aififer 5% 21 Qebt fAfAT TR TehdTe =TSt T104.05 38, OR TRSATS
forelt ar@«?

Ans X 1.3215.75

X 2.3225
X 3.3125.75
W 4.3100
Question Type : MCQ
Question ID : 630680287999
Option 11D : 6306801119903
Option 2 1D : 6306801119906
Option 31D : 6306801119904
Option 4 ID : 6306801119905
Status : Answered
Chosen Option : 4
Marks : 2
Q.17 Eusit auishATgEaR e Retear Arferchd (?) = SRt g ofe urfgsi?
NG, FM, XS, ?, HE
Ans o 1.PY
X 2.Qz
X 3.Pz
X 4.Qy
Question Type : MCQ
Question ID : 630680276902
Option 11D : 6306801076104
Option 2 ID : 6306801076105
Option 3 ID : 6306801076106
Option 4 1D : 6306801076103
Status : Answered
Chosen Option : 1
Marks : 2




Q.18 100 it 350 fehre= @REY Sheft 3nfoy oft Tef 48 ufd s A fRAreret). AT« T fhar
dAcar=h Terhar) .

X 1. 11.11% dleT

2 14~ % Tl

Ans

X 3. 14%%7%7[
X 4. 12.5% dleT

Question Type :
Question ID :
Option 11D :
Option2 1D :

Option 31D
Option 4 ID
Status

McCQ
630680287332
6306801117235
6306801117236

: 6306801117238
: 6306801117237
: Answered
Chosen Option :
Marks :

2
2

Q.19 YT 5% &I 3 Gufars) ¥1,500 T TRBeaTst fohedt 3ma?
X 1.3192

X 2.3180
% 3.3195

Ans

o 4.3225

Question Type :
Question ID :
Option 11D :
Option 2 1D :

Option 31D
Option 4 ID
Status

McQ
630680287977
6306801119817
6306801119816

: 6306801119815
: 6306801119818
: Answered
Chosen Option :
Marks :

4
2




Q.20 ¥EME WIFE 50 km/h TR e shea TfoY faeat fideaer ddar dighaa. fa e an
40 km/h 31T IRGT 3194, R <t 24 fAf If=T dighast s/, yarar= ggor siar
3ATR.

Ans X 1.40km
% 2.70km
«# 3.80km
X 4.30km

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680288009
6306801119943
6306801119946
6306801119944
6306801119945
Answered

1

0

Q.21 @Erefiet aRah! i reesiisained TH Ggss 318 10T AT T Teh ¢ d9R gidl. &1
TETd 7 THOUTRY eIl dhluTdt $Ia? (AT reai=T iyl 71T 2reg AT e SfOY Qreardier
3MeR/ /TR Ti=aT ST YR i 7TE UTest ST A4d.)
gt -1
ggI-aheR
Hist—desar
e (Tie) —UTaT= Gier

Ans o 1.7 (Tie) —UmdmET HieT

X 2. graAe-grd
/X 3. Hioi-desar

X 4. ugi-her

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680274037
6306801064670
6306801064667
6306801064669
6306801064668
Answered

1

2




Q.22 fcieur arferdhd usiRgren (?) st & et arfgst?

5,17, 53,161, 2, 1475
Ans X 1.199

o 2.485
X 3.874
X 4.276

Question Type : MCQ

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :
Marks :

630680276869
6306801075971
6306801075974
6306801075973
6306801075972
Answered

2

2

Q.23 = \Tore TR fAegT st fasmmy wifRTe ieht. wriea graei=h ATd SrgeRE 252 cm, 280 cm
311foY 308 cm IHTEe. UM fhaT foRell gTaetia ofdR UR dhet wifgst, vt & Heforor gof

UTaeTiAed 3idR UR s QAehdied?

Ans X 1.27,680
X 2.27,730
o 3.27,720
X 4.27,094

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680288028
6306801120019
6306801120022
6306801120021
6306801120020
Answered

3

2

Q.24 SR 54 fret ur=a 35 i=gi=T 21 Raw @oarard R /@, @v 72 fhet ar=a @ 28 atsain fhedft

Raw @oaETé R3¢ amg?

Ans

X1 31=
2

W2 35
X3 42
X4 28

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680287485
6306801117850
6306801117847
6306801117849
6306801117848
Answered

1

0




Q.25 Rewur sierR-THgar SidHed e S TuHToY 9 e iAo sier-agih

St Rt vataiga Rast.

FNW : HLY
KOR : MMT

Ans X 1.UDX:XBV
/< 2.BPN:DNP
75 3.GLS: U
o 4.CIQ : EGS

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680287378
6306801117421
6306801117422
6306801117420
6306801117419
Answered

2

0




